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M.Com. (Previous) ABST Examination, 2018

ADVANCED COST AND MANAGEMENT
ACCOUNTING

Time : Three Hours
Maximum Marks @ 100

PART-A [Marks : 20]
(@Ue-A)
Answer all questions (50 words each).
All questions carry equal marks.
nft wm wifrard ¥ T=E TR R I S0 MR [
sfyw 7 &1 o v ¥ sF wEm ¥
PART--B [Marks : 50]
(Er=z-4)
Answer five questions {250 words each}). Select one question
from each unit. All questions carry equal marks.
THF TFE W U W Y R0, HA G JUT HIFAU)
TEE T W OIN 250 R W P F
At 99 F A% TUH gl

PART-C [Marks : 30]
(TATE-H)
Answer any rwo questions {300 words each).
All questions carry equal marks.
FE A GVT RO FFE YA F I 300 I B
Al 7 ¥ | 9l F OAF 9EA B
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PART-A
(QUg-21)
1. Answer all questions.
ity ® IW ey
UNIT-1
(FHTE-I)

(i) On which rule Pareto analysis is based ? What does
it indicate ?
2 favew fre fgm w osmafw 32 @@ ow
i w@ ¥ 7

()  Fill in the blanks :
fa i w1 qff w10

(a) Cost plus pricing ignores ............... and .......
M A A e, G LI Eale )
F@ 2

(b) The rate of return to be camed by factory should
cover the ............... involved in business.
FER I TEE W AR wE F fau
saag H ffea . F @H H WA
=T

(c) There is no price policy in ................
................ 7 F¢ gem fMfa 7 e ¢
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(111)

(1v)

(V)

(vi)

UNIT-11

(g@g-11)
If variable cost and opportunity cost both are given
then how to decide whether a particular component

should make or buy ?

Iz oftads @@ A AR @ A X @ #
@ @9 fifm w01 fF uw faftre weew M
oI wdEn

How to calculate Throughput contribution ?

Yz HEA # OTOA B FW § 2

UNIT-III

(FeTE-111)
Given : Setting up cost Rs. 12,000, Output 15,000
units and production batch size 100 units, Calculate
COst per set up activity,
feqr & fEn-0 @R 12,000 ¥, TARA 100 ®
¥ AFER A 15000 TEEA F IaAl W
Te-3q Tfafafy F @ @@ e

Write name of different costs according to nature of

production process given in CAS-1 ?
Higmm-1 § @ ™ I whem #OvER $
amr w fafv= @l ® W fafeg
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UNIT-1V
BHRE-1V)

(vii) Fill in the blanks :

fror T w O

(@) Variance analysis involves the .............. and
.. of variances.
faem faveroor o fasmow &1 @

(b} Volume variance arises because of ...
¢xpenses. http://www.mlsuonline.com

(¢) The relation between the finished product and
the raw material input is known as ...............

fffa 3@ 7o F=h Wt F W # s

TS F oo FE T 2

(viil) What are the control points of Target costing ?

T R e % fEEm fag e 72

UNIT-V

EFE-V)

{ix} How to compute Economic Value Added ?

(X}

What are the components of Balance Score cards ?
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PART-B
(@UE-7)
UNIT-]
(gapTE-I)

2. Explam the application of Pareto analysis in the tollowing

business situations :
f =mEwfrr ifefe 8 @ favenn ® 0 sgwm
(v Customer Profitability,
ity Stock Control.

= FEEm
(i} Pricing of a Product.

OR
{ 37914 )

Discuss the concept of Skimming pricing policy and
Penetration pricing policy.
e IR gen-fim Afy e wEw wrm-favion Afe

FTOMEMTT W] TEEET

4802/1 950/555/188 5 [PT.O.

UNIT-II
(werTE-11)

A Paint manufacturing company manufactures 4.00,000
per annum medium-sized tins of "Spray Lac Paints” when
working at normal capacity. It incurs the following costs of
manufacturing per unit ;

A T= fmim woe s wdsm W owE s #
@ T AFR F W w% v=8 f@m ® 400000
1 gfrEd e v # werh ufr R SR e
frr P @ =" wE T

Rs.
Direct Material 15.60
(weas Anam )
Direct Labour 4.20
(Vs 49)
Variable Overheads 5.00
(vfdaeiir  Iufery)
Fixed Overhead 8.00
(Turdt 39feay)
Production cost per unit 32.80

(vfd T IWEA AE)

Each unit (tin) of the product is sold for Rs. 42 with
variable selling and administrative expenses of Rs, 1.2 per
tin. During the next gquarter only 20,000 units can be
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produced and sold. Management plans to shut down the
plant estimating that the fixed manufacturing cost can be
reduced to Rs. 1,48,000 for the quarter. When the plant is
operating, the fixed overheads are incurred at a uniform
rate throughout the vear. Additional cost of plant shut down
for the quarter are estimated is Rs. 28,000.

TAF SEE 42 F W T WG F ufEdavie fAawa
TRtE =g 1.2 €W @R ¥ e fand F #aa
20000 T ¥ INEA @ faEw fem oW omww
TAVE @ A TF FHE W fAER w W WA
v foat & fau wrdt sufera #1 148000 % 9%
FH OB AT TE W FEIE OB 2 OA, T
Iy qogel a8 o mEE R @ wE A # @R 5%
FE 1 faodt ® fau sfafem =mma 28000 % ¥

Comment :

frooft Fifo .

(a) Whether the plant should be shut down during the
quarter, and

w1 fad ® W W W a= ¥ 3 A
3

(b) Calculate the shut down point for quarter in units
of products (i.e., in terms of number of tins).

fomdl ® fom o= &° = fag sEm # owEnd
¥ M Fifaw
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OR
{ Haa)
Explain the concept of Throughput accounting.
Identify the factors which influence to throughput
accounting,
Y2 FEFET F OTEMTT F O FHEQ | oA
T AR W Y2 FEER F O9WifEd w0 E

UNIT-III

(FHTE-111)
What is the fundamenta] difterence between Activity Based
Costing system and Traditional Costing system ? Explain
with suntable example.
Tfafafy muafa = wvasa su s we e
F WA T AR W F 7 IT9R SR ¥ TR
Edisted

OR
(=9H)

Write a detailed note on Cost Accounting Standard-3
Overheads.

MR PR WEN-3 39 W OuF faga A fefau
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L7

UNIT-IV
(FFTE-1V)
A company has the capaciy of production of 80,000 units
and presently sells 20,000 units at Rs. 100 each, The
demand 15 sensitive to selling price and it has been
observed that every reduction of Rs, 10 in selling price the
demand 1s doubled. What should be the target cost a full
capacity if profit margin on sale is taken as 25% ? What
should be the cost reduction scheme if at present 40% of
cost is variable with same % of profit ?
TF FUE R 0000 ITHFEH F OTeOmEd w1 AN 7
A AEEE H 20000 TEEE 100 FORE TEE W AW
W * um faFE gem § 9w gEaTEvie B AR T
T fF fars v ¥ 10 B W owm T OW oum
ZUA W WA R YW WA W M AR s B atr
&Y fTEa qea W o2sw B AT q0% = ufeadaeia
AT N F WA W WA O N s O 7
OR
( ¥gan)
What are the causes of Cost variances ? Explain possible
ravourable and adverse causes.

4802/1 250/555/168 9 P.T.0.

UNIT-V
(ZFTE-V)

A company consists of two divisions : Properties division
and Food service division. The division's total assets,
current liabilities and before tax operating incomes for the
most recent year are as follows :

TF FE F A faum ¥ . wmfy favm aw @ T
fasm faum =1 w0 e, o9 ofrm aa s
e s oue 3w % e wew #

Division Before Tax Towal Assets Current
( Favm) Operating [ncome (F#A wwafa) Liabilities
(FTqd wfrarem ) (| =fae)
(Rs.) (Rs.) (Rs.)
Properties 2.90,00,000 14,50,00,000 | 30,00,000
Food Service 1.50,00,000 6.40,00,000 60.00,000

The company's tax rate is 40%. Weighted average cost
of capital is 10.56%.

FEA F F W 40% B 9 sia g @ 10.56% B

Calculate Economic value added for both the divisions of
the company.

FA % T favam & fau snfds geg wig &1 momn
EdiE b
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OR
( 319=m)
Explain the importance of learning and growth perspective
of Balance score card by taking suitable example.
HqeR TR FE B P A s gfEEm # qwe
F ITgF ITEM T FW wWw FfAU

PART-C
(@Us-7/)

UNIT-I
(FwTs-1)

An organisation manufactures a product. particulars of
which are detailed below :

F T UH @R w v owwd 2 fager faaor
fr= wan 2

Annual production (Units) 20.000
[(fd 3Imma (s%m3an)]

Cost per annum (Rs.)

[aftF @ (%))

Material 50.000
(|re)
Labour 60,000
(49)
Overheads 40,000
(39ft=m7)

Apportioned Investment (Rs.) 1.50,000

[ssfsm fafmm (3.))
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Determiine the unit selling price under two strategres
mentioned below. Assume that the organmisation’s ax rate
is 40%.

fre afols = mpee w oA W T feeEw d@
F1 favtor wifxm TuEs w0 B T 40%  HIFAW
ia) 209 return on nvestument,

@R Wo20% T
(h) 6% profit on list sales, when trade disceunt is 409,

W TR 4Za 40% £ oww g fawm ui es '

UNIT-II

(gaTE-1D)
A company has three products A, B and C. The following
information is available :
T HH B AW IwE AL B R C ¥ fm gEA

ExELofl

Particulars A B C
Sales per unit (Rs.) 100 150 | 200
(w8 = fawa (%))
Direct materiai per umt (Rs.) 76 130 | 18%

(s gueh ufa vEE (%)
Machine hours required per unit :
(afr T B[R T2 )

Machine 1 (W93 1) 12 4 2
Machine 2 (9113 2) I8 6 3
Machine 3 (W93 3) § 2 !
Estimated Sale Demand 200 200 1 200
f:;[:q:ﬂ’“:-'" fggm BT J
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[t is given that machine capacity is limited to 3200 hours
tor each machine,

You are required to caleulate the Throughput accounting
ratio and identify the suitable product mix on the basis.
7z T T ¥ T owEw wyiA o® faw 3200 W A%
WA gy Wi 2

TR Yy HEFA AT FOE T B AU 7959
=R fagm 9@ w2

UNIT-I11
(FETE-11)

A Bank has three products, viz.. Deposit, Loans and Credit
cards. The bank has selected four activities for a detailed
budgeting exercise. following activity-based costing
methods. The bank wants to know the product wise total
cost per unit for the selected activities, so that prices may

be fixed accordingly.
TR, WM qu wfgz FT
% 3 faem Awe offEfy F fom oaw ffafas o

Tud fFm 9ty a® ofafafy sopfm sve s f&fy
WS WA OECT AN ¥ AR IWE WGEN WEd &
Auim fEm w1 @9
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The following is availabe to formulate the budget :
TR TR FA % fau Fefafen Svoes #

S.No. Activities Present Cost
(wH) (nfafafrd) (FEHR =)
l. ATM Services (This activity is
driven by No. of ATM transactions)
v 3.y, 9 (g nfafafy g i
=EEr F wem m snfa §)
{a) Machine Maintenance 4,00,000
(b) Rents 2.00,000
(¢}  Currency replenishment 2,00.000
Total 8.,00,000
2. Computer Processing (This activity
is driven by the number of computer
transactions) 10,00,000
FrR SfEarEs (7 nfifafy
FE TAER F1 wem | wmihm
T #)
3. Issuing Statements (This activity is
driven by number of statements) 20,00,000
frifira farao (7w wfafafy faarol
! WEn § wien ol §)
4.  Computer Enquiries (This activity
is driven by telephone minutes) 3,60,000

FIR [EAS (TT MAE
Feher fredl W s §)
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The activity drivers and their budgeted quantities are
given below ;

fafafy oo e 39 FWe w9 @ owh E -

Activities Deposits Loans | Credit Cards

No. of ATM
Transaction 1,50,000 _— 50,000
(LATm =T
w1 W)
No. of Computer
Processing Transactions 15,00,000 | 2,00,000 3.00,000
(FoqR Wiwaisa |
EER T HEA)
No. of Statements
to be issued 3,50,000 50.000 1,00.000
(fFrifrs fF ™
fapmronl =t weEm)
Telephone minutes 3,60,000 | 1,80,000 1,80.000
(FTEFEm foTem)
The bank has a volume of 58,600 Deposit accounts,
13,000 Loan accounts and 14,000 Credit cards accounts.
¥ F UT 58600 W @R, 13000 WU WA AW
14000 #fez =€ @R #
You are required to :
AYH FE HE ¢
(i)  Calculate the budgeted rate for each activity.
wE nafafa ® fw wswE [ §E R
(i) Find product cost per account as per activity-based
accounting system.
Tfatafy wnufte Sae =Een ® oqER Wi @
IAR ARG Wa S
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10.

16.

UNIT-IV

(ZETE-IV)
What do vou mean by Reporting of variances ? Explain in
the light of partial and single plan.
faamoi # ufad=w § oMW RN UAwd ¥ Ve W
TEA de F oWy W= il

UNIT-V
(FHTE-V)
Write short notes on the following :
(iy  Economic Value-added verses Return on Investment.
siffx ger Wi & m fafam W v
(i) Cash value added.
THE YA e
(i) Market value added.
(iv) How to improve EVA 7
iFu W FE gAW A ?
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